
0 20 40 60 80 100 120 140 160 180 200

1
10

210

310

410

510

610

710

810

910
E

ve
nt

s 
/ 5

 G
eV

Data

Stat. unc.

W + jets

tt

Single t

Diboson

Multijet

 + jetsνν →Z 

* + jetsγZ/

Xtt

)) = (500, 490)1
0χ∼), m(1t

~
(m(

)) = (500, 420)1
0χ∼), m(1t

~
(m(

 (13 TeV)-141.5 fb

CMS

0 20 40 60 80 100 120 140 160 180 200
(l) [GeV]

T
p

0.6
0.8

1
1.2
1.4

D
at

a 
/ M

C 0 20 40 60 80 100 120 140 160 180 200

1
10

210

310

410

510

610

710

810

910

E
ve

nt
s 

/ 5
 G

eV

Data

Stat. unc.

W + jets

tt

Single t

Diboson

Multijet

 + jetsνν →Z 

* + jetsγZ/

Xtt

)) = (500, 490)1
0χ∼), m(1t

~
(m(

)) = (500, 420)1
0χ∼), m(1t

~
(m(

 (13 TeV)-159.8 fb

CMS

0 20 40 60 80 100 120 140 160 180 200
(l) [GeV]

T
p

0.6
0.8

1
1.2
1.4

D
at

a 
/ M

C

300 400 500 600 700 800 900 1000

1
10

210

310

410

510

610

710

810

910

E
ve

nt
s 

/ 2
0 

G
eV

Data

Stat. unc.

W + jets

tt

Single t

Diboson

Multijet

 + jetsνν →Z 

* + jetsγZ/

Xtt

)) = (500, 490)1
0χ∼), m(1t

~
(m(

)) = (500, 420)1
0χ∼), m(1t

~
(m(

 (13 TeV)-141.5 fb

CMS

300 400 500 600 700 800 900 1000
 [GeV]miss

T
p

0.6
0.8

1
1.2
1.4

D
at

a 
/ M

C 300 400 500 600 700 800 900 1000

1
10

210

310

410

510

610

710

810

910

E
ve

nt
s 

/ 2
0 

G
eV

Data

Stat. unc.

W + jets

tt

Single t

Diboson

Multijet

 + jetsνν →Z 

* + jetsγZ/

Xtt

)) = (500, 490)1
0χ∼), m(1t

~
(m(

)) = (500, 420)1
0χ∼), m(1t

~
(m(

 (13 TeV)-159.8 fb

CMS

300 400 500 600 700 800 900 1000
 [GeV]miss

T
p

0.6
0.8

1
1.2
1.4

D
at

a 
/ M

C

1 2 3 4 5

10

210

310

410

510

610

710

810

E
ve

nt
s

Data

Stat. unc.

W + jets

tt

Single t

Diboson

Multijet

 + jetsνν →Z 

* + jetsγZ/

Xtt

)) = (500, 490)1
0χ∼), m(1t

~
(m(

)) = (500, 420)1
0χ∼), m(1t

~
(m(

 (13 TeV)-141.5 fb

CMS

1 2 3 4 5
JetN

0.8
0.9

1
1.1
1.2

D
at

a 
/ M

C 1 2 3 4 5

10

210

310

410

510

610

710

810

910

E
ve

nt
s

Data

Stat. unc.

W + jets

tt

Single t

Diboson

Multijet

 + jetsνν →Z 

* + jetsγZ/

Xtt

)) = (500, 490)1
0χ∼), m(1t

~
(m(

)) = (500, 420)1
0χ∼), m(1t

~
(m(

 (13 TeV)-159.8 fb

CMS

1 2 3 4 5
JetN

0.8
0.9

1
1.1
1.2

D
at

a 
/ M

C


